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Note: i) Answer any five questions.
forl ufg weA! 1 & S|
ii) All questions carry equal marks.
aoft wet & T 37 2

iii) In case of any doubt or dispute the English version
question should be treated as final.

el off wep & T sy faare Y feufer F afidt s
¥ weT Y JferT 7FT AR

I. a) What are the four different ways for failure of cutting
tools? Explain with neat sketch.

U] Bre- Y AT & YR AT 3T aih FATE 7

g WaEIfa & gRI a9t

b) A cylindrical bar of 100 mm diameter is orthogonally
straight turmed with cutting velocity, feed and depth of
cut of 120 m/min, 0.25 mm/rev and 4 mm, respectively.
The specific cutting energy of the work material is
1x10% J/m?. Neglect the contribution of feed force
towards cutting power. Find the main or tangential
cutting force (in N).
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100 frft. @y Y v JeHIBR T B FIA: 120 m/min,
0.25 mm/rev 3(R 4 mm Wﬁiaﬂ,fﬁl@ﬁ?mﬁw
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2. Two c_utling tools are being compared for a machining
operation. The tool life equations are:

Carbide tool: VT!¢ = 3000
HSS tool: VT%6 = 200.

Whe!‘e V is the cutting speed in m/min and T is the tool life
In min. The carbide tool will provide higher tool life if the
cutting speed in m/min exceeds what value. Try to justify

your statement.

Al SfreE & forg @ e goq H go K @ B
IUHI g Tt 81

PEIZS ITHIT : V-6 = 3000

HSS Iuaul : VT4 = 200.

STl V BleA &t iy Hiew/fime o € 3k T Suewor sfiaw fFe o
21 e Hex/fre o sed & 1y 6w gou A aftre @ A
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3. Writes down about the super finishing processes given

below in bnef:
1) Honing
i) Lapping
1i) Electro polishing
iv) Buffing
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What is gear hobbing and how does it work? Write the
Advantages and Limitations of Gear Hobbing Process,
with neat sketch.

firer gifdn @ 8 ok g8 & am avar &7 oo W
& F1e o g wfdar & ey o i ke

What are the difference between gear production and
gear generation? Compare between them.

filae Miggem ok fieR SPrem | &ar afdw 27 99 &
AT |

Define hot extrusion and cold extrusion Process on the
basis of surface finish, mechanical properties, material
used and machine specificdtion.

aqg @, It quil, ugaa aralt ek asf RSy &
TR OF T g iR Ples Taager i &) aRfe
Gx

What 1s blow moulding? What are the advantage and
Defects of Blow Moulding?

&) Aifeen @ &7 &t Aifeen & o AR Ay a7

Write down the short note on welding of plastics. What
are the Advantage and limitation of the technology?

wiiftee $i Afeen w afdm fRuoft gy wenfird & ey
ity vl @ E7
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b) Differentiate between the product developed by transfer
moulding and extrusion moulding in all the aspects.

wt ygegell o TR AifeeT iR EEEEH ST gRY
faepfira Iaare & fiF AR |

7. a) Draw the logical diagram of electrochemical machining,

and describe the procedure, working principle,
advantage and limitation of the process.

gaFCIs e nefifiT @ arfde @ sy 3iR nfkal,
srifgra, am ik ufdsr 6 iy @ aofF &R

b) What is the characteristics of electron beam machining,
write the advantage and limitation of the EBM.

gelge T i qefifn &t fRideand #o1 87 EBM & &% 3R
e feilau)

8. Writes the part program for machining centers (milling) for

the given geometry. All dimensions are in mm.
& 18 sanfafa & forg adifim &gl & forg wid v foRaq) wft
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